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Question Paper Specific Instructions

Please read each of the following instructions carcfully bofore attempting qucstions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE from each section.

The number of marks carried by a question [ part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, whereuer specified, should be adhered to.

Diagrams/Figures, wherever required, may be drawn in the space provided for answering the
question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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SECTION A
Q1. fr=feiRam i somean Hik ;

Explain the following : 10x5=50
(a) SgYeedl ¥ ST s B

Polyteny differs from polyploidy 10
(b) YAISH AR H TN HA aTA HEh

Factors affecting recombination frequencies 10
(c) 3 ITwal (FHSH GEAT) T0E0 & T H HIE-SFAI G0E0

Chi-square test as a test of goodness of fit 10
(d) wtoe g

C-value paradox 10
(e) TENIMSH IeqEdsH

Chemical mutagens 10

Q2. (a)

(b)

(c)

U375 TH.UE. H T GHIEH] Td qehrlhl ! SATEAT ShifoIT TF ekl faator
Qe |

Explain and describe the tools and techniques of FISH.

frasTEm (i) 6T TAT T S qUH HIRT |

Describe the basic structure of a nucleosome.
“comiarer % aRomm TR B ¥ | TymiaRe @uel #§ SH 9 Sew S
HEAAT I FEoT 7, SAfUg SEET ¥ g3 Mefpwr AfEfaarel w1 Hft RH
et 7 |7 o= i |

“The consequences of translocations are profound. They lead not only to

a change in gene linkage in the translocated sections but also to easily
incurred meiotic abnormalities.” Discuss.

20

15

15
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Q3. (a) IUYH YHIUI o H1Y BR-3N-Fleh UICU H Tesh SR shl saredn Hifdw |

Citing suitable evidences, explain plastid inheritance in four o’clock
plant. 15

(b) SIS AT M HhL A ki faa=mr Hivw |

Discuss Inbreeding depression versus Heterosis. 15

(c)  THIRTFAIT Tehdl o TIMIGT i Nfshal ¥ Ins Py/DAG U9 fF8 TR W
T g ?

How does the Ins P3/DAG pathway participate in the process of
translocation of cellular signals ? 20

Q4. TFraferReaa =t frfdrearett aur 37k Iu=rT =1 witrea Fuia il :

Briefly describe the characteristics and applications of the

following : 10x5=50
(a) S Hetor fafer

Back cross method 10
(b)  gfdery wEfaaeRm

Restriction endonucleases 10
(c)  Siifera StaiuEet & ®9 8 ST q1ey

Transgenic plants as living bioreaclory 10
d) s s

Molecular markers 10
(e) UTaTEH &% &Y H L™

Retroviruses as vectors 10
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SECTION B
Q5. TF=ferRaa € sarean fife .
Explain the following : 10x5=50
(a) THITIEA
Apoenzyme 10
(b) TSR B o ®9 H TR
Ethylene as a volatile hormone 10
(¢)  ¥e1 e uied st gfg @i ot Hifta et 3
Soil salinity also restricts the growth of plants S0
(d) M 3NET AR 9
Taiga or Boreal forests ' 10
(e) “Fuit filfire wea ufiyrg ¥ @ WY hR Y vo T g |7 R ?
“The pyramid of energy always takes a true upright shape.” Why ? 10
Q6. (a) @il o s Tiosfier swvpehi § ufafda g9 8 wsetwEdl 6t YA

(b)

(c)

U HST |

Describe the role of glyoxysomes in conversion of fats into more mobile

molecules. 15
FAIH ST T T FelteT § g T8 Hife |
Distinguish between phloem loading and phloem unloading. 15

fihd Sfaamo & 379 F1 GHIA & ? WRA o SEifSenmiee (Sa-Himifereh )
arffertont <1 ferercor ST |

What is Niche overlap ? Narrate the biogeographic classifications of
India. 5+15=20
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Q7. (a)

(b)

(c)

W T, e wiw, e qen Aices m I 3T HERRE 5 w9 f
ITTEIhAl Gt @, o a1 o6 & 2

What are the functions of the enzymes which need copper, zinc and
molybdenum as their co-factors ? 15

9 T (SARA) o TNTET hi TETOHT Tga ShIfSTT qen sueh e u
F9%h ITSRICHS 3UT 1 H3a I, |

Enumerate the effects of oil spillage and suggest the control and
remedial measures of it. 5+5+5=15

Tiifefos SR i aitfia i | aifefos sTgea % Sl v e
SR I GO HINT |

Define ecological succession. Describe the causes and basic types of
ecological succession. 5+104+5=20

Q8. feu T visal @t Wit auia Hifdr 3t 373 wew W = difRvu

Briefly describe the given terms and emphasize their importance/

significance : 10x5=50
(2) UH:=ShUT 31E UM TE-EA i STLRG 3T 8

Recycling is an integral part of solid waste management 10
(b) AMAIH. (OTEC)

OTEC : 10
(¢) USRI TreH aur Hrgss e

Allosteric enzymes and Feedback control 5+5=10
(d) -G TE S9-SU=HIcHhAT

Biosafety and Bioremediation 5+5=10
(e) HRIFS

Solar pond 10
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